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1. Answer all questions.

2. Section A, do in the spaces provided.

3. Neither electronic calculators nor mathematical tables may be used in SECTION A.
4. Section B, do in separate writing papers.

5. electronic calculators or mathematical tables may be used in SECTION B.
Section A
1. Given that 
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Answer 
a) .............................. [1]

b) .............................. [1]

c) .............................. [1]

2. Given that 
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, find the value of each of the following, giving your answers in standard form, correct to 3 significant figures, 
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Answer 
a) .............................. [1]

b) .............................. [2]

3. a)
Express 315 as a product of prime factors.

b) Find the smallest integer p such that 
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 is a multiple of 120.

c)
Find the smallest integer q, such that q is a multiple of 35 and 45.

Answer 
a) .............................. [1]

b) .............................. [1]

c) .............................. [1]

4. Given that 
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Answer 
a) .............................. [1]

b) .............................. [1]

c) .............................. [1]

5. Factorise completely

a) 
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b) 
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Answer 
a) .............................. [2]

b) .............................. [2]

6. Solve the following equations:

a) 
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b) 
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Answer 
a) .............................. [1]

b) .............................. [2]

7. Solve the simultaneous equations.
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Answer 
.............................. [3]

8. A delivery company charges a minimum cost of $50 for a single trip delivery. This is subject to a maximum load of 200 kilograms, in which excess weights are charged at a rate of $10 per 100 kilograms. Using C to represent the charge and W to represent the weight of the goods,

a) write down an equation connecting C and W  for 
[image: image22.wmf]200
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kg,

b) find the charge if the total weight of the goods to be delivered is 320 kilograms.

Answer 
a) .............................. [2]

b) .............................. [1]

9. An amount of $5000 is deposited in a bank with an interest rate 6% per annum.

a) Calculate the simple interest in 3 years time.

b) In how many years will the total amount add up to $6500?

Answer 
a) .............................. [1]

b) .............................. [2]

10. The diagram below shows triangle ABC.

a) Construct the locus of points, P such that P is equidistant from A and B.

[1]

b) Construct the locus of points, Q such that Q is equidistant from A and C.

[1]

c) Hence, or otherwise, draw the circle that passes through A, B and C.

[1]

d) Construct, the locus of point R, such that R lies on the same side of AB as C and the area of 
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[2]

11. In the diagram below, ABC is a right-angled triangle in which 
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.  Given further that the point D lies on AB produced, calculate

a) 
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b) 
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c) 
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Answer
a).............................. [1]

b).............................. [1]

c).............................. [1]

Section B 

1. a)
If the base of a triangle is increased by 20% and the height is decreased by 20%, find the percentage change in the area of the triangle, stating whether it is an increase or a decrease.









[3]

b)
Mr and Mrs Tan went on a holiday to China for 6 days and 5 nights with their three children, age 7, 11 and 14.

i) The cost of the tour based on twin sharing (2 persons per room), was $1200 per person. Children below 10 years old were given a 40% discount on the fare and can sleep with their parents with an additional cost of $10 for the third bed per night. The Tan family was allocated two rooms. Calculate the total cost of the tour package for the family.







[3]

ii) Before the tour, Mr Tan exchanged some Chinese Renminbi (RMB) at a rate of S$1.10 to RMB $5.

a) Calculate, to the nearest dollar, the amount of RMB he received from the money changer for S$1800.






[2]

b) In China, the children bought a Chinese Dictionary at RMB $28. Find the cost of the dictionary in Singapore dollars, giving your answer correct to the nearest cents.








[2]

2. Two towns X and Y are 400 km apart. Two cars A and B leave X at the same time. Car A travels at a uniform speed of x km/h. Car B travels at a speed of 
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a) Find, in terms of x, the time taken by car A to reach Town Y.


[1]

b) Find, in terms of x, the distance of car B from Town Y after 2 hours.

[2]

c) Find, in terms of x, the time taken by car B to reach Town Y.


[3]

d) Given that both cars reached Town Y at the same time, form an equation in x, and show that it reduces to 
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[2]

e) Find the values of x.








[2]

3. a)


The diagram shows a quadrilateral field ABCD, in which AB is parallel to DC. Given that 
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[3]

ii)
length of BC,








[2]

iii)
area of 
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[2]

b)

The diagram shows a right-angled triangular field XYZ, with 
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. A vertical tower XP is located at the point X. Given that 
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m and the angle of elevation of P from Y is 40o, calculate the angle of elevation of P from Z.

[3]

4. Answer the whole of this question on a sheet of plain paper.
ABC is a triangular field where 
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a) Using a scale of 1 cm to represent 10 m, construct an accurate scale drawing of the field. Measure and write down the value of 
[image: image45.wmf]ACB
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.




[2]

b) On your diagram, construct and label,

i) the locus of points P, which are 50 m from C,




[1]

ii) the locus of points Q, which are equidistant from A and B,


[1]

iii) the locus of points R, which are equidistant from AB and AC.


[2]

c) A flagpole, F is to be erected inside 
[image: image46.wmf]ABC

D

. The position of F is such that it is nearer to B than A, nearer to AB than AC and at least 50 m from C. Indicate clearly, by shading, the region in which F must lie.





[2]

d) A tree, in the field is exactly 50 m from C and is equidistant from AB and AC. Label, with the letter T, the point representing the position of the tree. What is the distance of the tree from A?








[2]
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